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Example 2

Given:
emax = 8%
Design Speed, V, = 55 mph
Four —lane Regional Arterial, Rural
Four 12-foot lanes; R =1637 ft
Find:
1. Required Rate of Superelevation (e)
2. Length of Superelevation Runoff (L,)
3. Length of Tangent Runout (L,)
4. Length of Superelevation Transition (T)

Example 2 Solution

Minimum Radii for Superelevation rates, Design Speeds, and e_., = 8%
V=15 | ;=20 | V,=25 | ;=30 | v, =35 | V,=40 | V=45 [V, =50} v, =55 [Jv,=60
mph | mph | mph | mph | mph | mph | mph | mph j| mph [} mph
e(%)] Rift) | R(ft) | R(M) | R(R) | RI(f) | R(f) | R(f) | RO RIft) § RIR)
NC 932 1640 2370 3240 4260 5410 6710 8150 9720 11500
RC 676 1190 1720 2370 3120 3870 4930 5990 7150 8440
22 605 1070 1550 2130 2800 3570 4440 5400 6450 7620
2.4 546 959 1400 1930 2540 3240 4030 4910 5870 6930
26 496 872 1280 1760 2320 2960 3690 4490 5370 6350

V d —-_ 55 mph 28 | 453 | 796 | 1170 | 1610 | 2130 | 2720 | 3390 | 4130 | 4950 |[f s8s50
30 415 730 1070 1480 1960 2510 3130 3820 4580 5420

Radius — 1637 ft 32 | 382 | 672 | 985 | 1370 | 1820 | 2330 | 2900 | 3s50 | 4zs0 || sos0
— 34 352 620 911 1270 1690 2170 2700 3300 3970 4700

3.6 324 5712 845 1180 1570 2020 2520 3090 3710 4400

R=1 650’ > 1 637, >1 560, 38 300 530 784 1100 1470 1890 2360 2890 3a80 4140

4.0 277 490 729 1030 1370 1770 2220 2720 3270 3890

Use ereq forR=1560’ 42 | 255 | 453 | 678 [ o955 | 1280 | 1660 | 2080 | 2s60 || 3080 || 3670

4.4 235 418 630 893 1200 1560 1960 2410 2910 3470

a6 | 215 | 384 | sss | 834 | 1130 | 1470 | 1850 | 2280 ) 2750 |J 3280
4.8 193 349 542 79 1060 13%0 1750 2160 2610 3120
50 | 172 | 314 | 499 727 | 991 | 1310 | 1650 | 2040 §| 2470 |f 2960
5.2 154 284 457 676 929 1230 1560 1930 2350 2820
5.4 139 258 420 627 870 1160 | 1480 | 1830 2230 2680
56 | 12 23 | 387 | 582 | 813 | 109 | 1300 [ 1740 2120 [ 2550
58 | 115 216 | 358 542 | 761 [ 1030 [ 1320 | 1650 | 2010 [} 2430
6.0 105 199 332 506 713 965 1250 1560 1920 2320
62 | 97 184 | 308 | a72 | 669 909 | 1180 | 14s0 | 1320 [f 2210
6.4 89 170 287 442 628 857 1110 1400 1730 2110

S5 52 152 25, FLE] 20 08 2050 SEEG] 2010
es| 146 248 | 386 | 553 | 761 | 990 | 1260 1560 |J 1910
—

231 360 Sla 716 EEE) % 1 1820

Exhibit 3-27

€req = 6:8%




3/28/2015

Example 2 Solution

For V4 = 55 mph, 2 lane rotated, and €, = 5.8%

Find Length of Superelevation Runoff (L))
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Exhibit 3-32

Example 2 Solution
Having determined the Superelvation

Runoff, L, = 260 ft,

Calculate Tangent Runout, L,

(260) = 76.471 ~ 76 fi
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L, +L, =260 +76 =336 ft

Therefore Superelevation Transition,

T




